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\Geeﬂaetry Review Sheet fwof Umt 4/5 Test: Polygons and Similarity.
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Only used when the polygonis ¥ 24 )4 ¢
b) Find the value of x. -
1; 1 “'// -z »\‘
| / = 4'6’
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2) Find the measure of an interior angle and an exterior angle of the| regular polygon given below:
3;2* 3 L"'ﬁ Regular octagon T | E B. Regular 16 -gon ‘ﬁ 7. A//»’ ;; 5
3) A regular polygon has an exterior angle measure of (8x+4)° and an adjacent interior angle measure
of (42x — 24)°. A Sx 14 + 4ax-Q Y= 18O
A. Find the measure of each angle v/ 36 50x -0 = &0
B. How many sides does this polygon have? =@~ 20 [ =57 x= 4
4) Explain the difference between irregular and regula;r polygons. ' )
.— -7.7/ | o~ - Y < 'J'm,: / ;\\i"v"" WA v . )?ﬁ
| X < = X ls & S "’3 ;,’« : _‘3
5) Complete the chart.
Classification # Sides Sum of Interior Angles
nonagon 7 /2O
[H =90 14 21 0
decagon /O [ 44O
Ad-90n Qo 4320
6) a) Determine the smallest degree of b) Determine the degrees of rotation that will carry
rotation that will carry the regular the regular figure onto ltself
decagon onto itself. U g% f’-i o O
o, 3 6O
ol " 300
360 i
0
7) f\ mar v Hgh A L
a) Fortwo figures to be similar, the correspondln% angles must be Ceongrue , and
the corresponding side lengths must be I Dropol tionne. QA =&
n ¢
b) For two figures to be congruent, the corresponding angles must be (ongr vl )

and the corresponding side lengths must be HYNAgrvenT
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In the figure HGQiE‘»"‘ M|.@ X a0
4 1 7 T
A. Find the scale factor of HGFE to MLKJ. & * 5 I
B. Find the scale factor of MLKJ to HGFE. 5 : 2
C. Findthevalueofx. 2 7.5 Y =23
D. Find the valueofy. /2 20 [0
E. Findthevaluez. (5 °
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Suppose that ABDC;s @to polygon HIJIs,after a Wf ABDC. His at (3 1)andlisat (1,1).
L Wr.2a
Part A: What is the scale factor between the two polygons? Fl A B q‘ "}z
Part B: What are the coordinates ofﬁ’i{ / J)d/ or (3, U/ /z‘ 92
Part C: What is the relationship between the@reas of the two triangles? Iy — -
— polygons [ - ‘71
10)

A rectangle has side lengths of 10 and 14. Aém—ila/r)ectangle might have side lengths of :

A. 11and 14 A*)le_ ﬁ %) _),' _ rL./ /
(B 15and 21 I T5 @l
C. 9and 18 J z

D. 16 and 20 \ 3
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You are printing posters for a concert and need them to be 35” tall. The small copy you have is 8”
wide by 10" inches tall.
Part A: What scale factor you should use to@ the image and make sure the posters are

proportional? ,( . 7 S — P(){,j,e(: new
k = - O’) or .-:". L) D _._).—a
Co P6 OlD
Part B: How wide will the enlarged poster be?
R | YA/ , ? 10
6‘0 L ~ ) .z .47
8’35 =23 u?g X 5‘)
Part C: What relationship (ratio) do the areas of the small copy and the poster have?
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12) Two polygons are similar with a scale factor of 5 to 7. The! a@f the smaller polygon is 60 |n2
? 5
thi:: |2 the area of the larger polygon? 4/_\ o~ / E 52 _ 4,0
< §‘§ 3|DQ- = A 5 = = % > -
- 3] ——— . ’
T 2=\ smwmer A A=p0 A x 2§ = 00 [yr/ﬁ.@{
33 | f9 X
- bm’z :m!g,
13) The areas of two similar polygons are in the ratio. ES\ﬁl Find the ratio of the corresponding sides. /
14) In table tennis, the table is a rectangle 9 feet long and 5 feet wide. A tennis court is a rectangle 78
feet long and 36 feet wide. Are the two surfaces ngD? Explain. If so, find the scale factor of the
tennis court to the table. — - - 5 £ 2 Not
[ <0 5 / (m“‘ﬁ -C 36 78 nJ
1 —d “
2%y & 9 ia3d FE /q F
15) Quadrilateral HALK is congruent to qA drilategal FORT. mL_I-)I =60°, mLL 152°, and mAT =42°. What is
L’—‘\/ V-E‘- T K loo‘/1 9) - / /06 }
16) Which quadrant has two polygons that ar@nilar o ‘i”"hm 130 (n-3)
\ L0 4 —— - -
A) B e’i"b - ( 7 .:{_——-.-. L/ L?’ - ,L_L
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